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Note : Answers may be written either in English or in
Hindi ; but the same medium should be used
throughout the paper.
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Note : The maximum marks printed on the question paper
are applicable for the candidates registered with
the School of Open Learning for the B.A. (Hons.).
These marks will, however, be scaled down

_proportionately in respect of the students of regular
colleges, at the time of posting of awards for
compilation of result.
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Attempt four questions in all,

selecting at least one question from each section.
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Section - A
T ueg -

1. (a) How do you derive the demand curve from
the price consumption curve ? Explain with

the help of a diagram.
(b) Write a short note on isoquants and isocost
lines. ' . 7.5+5
(F) oM FTT ITHT T /T 6 P T B
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2. Write a short note on supply curve of a firm
under perfect competition ? How' is the supply
curve in the industry generated under perfect
competition ? (Explain with diagrams) 125
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Ashok spends all his income of Rs. 500 on two
commodities X and Y, the prices of which are
Rs. 10 and Rs. 5 respectively.

(a) Construct his budget line.
(b) What is the slope of the budget line ?

(¢) What will be the new budget line, if the
prices of both goods as well as income
double ?

(d) In case the prices of commodities
alone double, with the money income
remaining the same, what will the budget

line be ? 4+25+25+13.5)
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" (a) Law of absolute advantage.
(b) . Giffen good and the law of demand.
(c) Law of diminishing marginal utility.(6.25 + 6.25)
Frevioie & & feet 9t w st foomoft fofam .
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(M) FEEA G vt
(a) As the price of oil increased from 40 § to
50 §, the quantity demanded by a firm
decreased from 1000 barrels to 900 barrels.
How do you use the expenditure (spending)
method to assess its elasticity ?
(b) Write a short note on income elasticity of
demand.
(c) Through separate diagrams, illustrate
demand curves with
(1) infinite e]aéticity of demand and
(i1) zero elasticity of demand. (4 +4.5+4)
(%) o1 40 $ R 50§ AW, T HHEW
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Write short notes on any two of the following :
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-Section - B

Qs -9

6. Explain the process of credit creation in the
commercial banking system. 12.5
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7. (a)- Fill in the missing blanks in the table
' below. C, I and G represents desired
consumption, desired investment and

government expenditure respectively.

National} C=100 | I=100 | G= 100 | Desired
Income | +0.5Y aggregate|
(GDP) spending

(Y) (AE)
500 - ~ - -
600 - - - -
700 - - - -

5290 5 P.T.O.



(b) At what level of output is the economy in
equilibrium ?
{(c) Why do we say that at the other levels

of output, the economy is not in
equilibrium ? 4+34+55
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National| C=100 {I1=100 |G =100 | Desired
Income | +05Y aggregate
(GDP) spending
(Y) (AE)
500 - - - - -
600 ~ - - -
700 - - - -
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8.  Write short notes on any two of the foilowing :
(a) Multiplier

(b) Injections and leakages in an open economy
with government.

(c) Savings function. 6.25 + 6.25
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